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A number series is given with one term missing. Choose that correct alternative 
which will complete the series. 
एक सखं  ् या श्रंखल ्ा को एक लु प्त पद के साथ ददया गया है। उस सही दिकल्प को चु नेंजो

श्रंखल ्ा को पूरा करेगा।

109, 74, 46, 25, 11, ? 

A. 36 
B. 0 
C. 4 
D. 11



A number series is given with one term missing. Choose that correct alternative 
which will complete the series. 
एकसखं  ् याश्रंखलाको एकलपु्त पदकेसाथददया गया है। उससही

दिकल्पकोचनु्े्ंजोश्रंखलाको परा ्ू करेगा।

4, 11, 30, 85, 248, ? 

A. 333 
B. 444 
C. 683 
D. 735



Statement : 
All pens are clocks. 
Some clock are wheels. 
Conclusions: 
I. No wheels is clocks. 
II. Some pens are wheels.

कथन : 
सभी पेन घड़िया है।

कुछ घड़िया पड़हए है।

ड़नष्कर्ष

I. कोई पड़हया, घड़िया नही हैं।
II. कुछ पेन पड़हया हैं।



Indentify the diagram that best represents the relationship among 
classes given below. 
उस आरेखको पहचानेजो नीचेददए गए िगो केबीच सिवशे्ष्ठ सबं ्ं ध को दर्ावता

है।

Sun, Bottle, Fan / सर ्ूज, बोतल, पं खा



What will be the mirror image of the given figure? 
दी गई आकर दत की दपवण छदि क्या होगी?

Question Figure 
J A C K 5 2



Find odd word/ number from the four given alternatives.

A.Dinar
B. Yen 
C. Franc 
D. Pound

ददए गए चार दिकल्पों मेंसेदिषम र्ब्द/सं ख्या ज्ञात कीदजये।

A.दीनार B. येन C. फ्रैं क D. पाउं ड



Find odd word/ number from the four given alternatives.

A.Shimla
B. Darjeeling 
C. Ooty
D. Agra

ददए गए चार दिकल्पों मे से दिषम र्ब्द/सं ख्या ज्ञात कीदजये।

A. दर्मला B. दादजवदलं ग C. ऊटी D. आगरा



Find the odd letter/number/ word from the given alternatives.

A. 552 
B. 736 
C. 833 
D. 561



If 4 × 6 × 9 = 649 and, 9 × 8 × 4 = 894 then 3 × 7 × 2 = ?

A. 294 
B. 732 
C. 813 
D. 272



If G is 5th to the left of K and 2nd to the right of L who is 11th from the right end 
then what is G's position from the left? 
यदद G, K के बायें से 5 िांऔर L के दायें से दसरा ्ू है, जो दायें छोर से 11 िााँ है तो G की बायें

ओर से स्थथदत क्या है?

A. 5 
B. 4 
C. 6 
D. Cannot be determined



If P means ×, T means –, M means + and B means ÷, what will be the value of

12P6M15T16B4 ? 

A. 70 
B. 75 
C. 83 
D. 110



In a certain code language, PITCH is written as RHVBJ then what will be the code 
for GREAT in that code language? 
एक दनदित कोड भाषा में, PITCH को RHVBJ दलखा जाता है, तो GREAT केदलए उसी कोड

भाषा मेंक्या कोड होगा?

A.IQGZV 
B. IJGZV 
C. IQZZV 
D. IQGUI



In a certain code language, SMART is written as UKCPV. What will be the code for 
WONDER in that code language?
एक दनदित कोड भाषा में, SMART को UKCPV दलखा जाता है, तो WONDER केदलएउसी

कोड भाषा मेंक्या कोड होगा?

A.YMPPRT 
B. YMPBGP 
C. YMPBFP 
D. YMBPPG



In a certain code language, 124 is written as 457, 632 is written as 965 and 102 is 
written as 435 then how can 442 be written in that code language? 
एक दनदित कूट भाषा में, 124 को 457, 632 को 965 और 102 को 435 
दलखाजाताहैतोउसीकोड भाषा में 442 कैसे दलखाजा सकताहै?

A. 703 
B. 775 
C. 762 
D. 725



Kamlesh is Anil's brother. Sundari is the sister of Madan. Anil is the son of Sundari. 
Now how is Kamlesh related to Sundari? 
कमलेर्, अदनल का भाई है। सन ्ु  ् दरी, मदन की बहन है। अदनल, सन ्ु  ् दरी का पतु्र है।

कमलेर् का सन ्ु  ् दरी सेक्या सं बं ध है?

A.Nephew
B. Son 
C. Brother 
D. Father



Rachita starts walking towards the north. After walking 15 meters, she turns 
towards the south and walks 20 meters. After this, she turns towards east 10 
meters and then walks 5 meters towards the north. Now in which direction is she 
from her starting point and how far? 
दचताउत्तरकीओरचलनाआरम्भकरतीहै। 15 मीटरचलनेकेबाद, िह ददिण ददर्ा मेंमडुकर 20 
मीटर चलतीहै। इसकेबाद िहपिव ्ू की ओर मडुकर 10 मीटर चलतीहै। अततं ् िहउत्तर

की ओर 5 मीटर चलतीहै। अब िहअपनेमलू दबन्दु सेदकस ददर्ा मेंऔर दकतनीदरी ्ूपरहै?

A. 10 meters west 
B. 5 meters east 
C. 5 meters north 
D. 10 meters east




